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1. BEEFHIA
O EERINA
ERESELEERILA 66,862 81,105 A 2278 78,827 A 11,965
SEHILAG 66,862 81,105 A 2278 78,827 A 11,965
@ BEEEERINA
HEEEFBRINA 710 7 591 598 112
BHEEEBERIIAG 710 7 591 598 112
@ BEEZILA
ABEFEHINA 4933 7,122 A 813 6,309 A 1,376
B B F kIR A 2,000 1,100 875 1,975 25
HEFEFEIA 850 850 A 84 766 84
EHEZINAG 7,783 9,072 A 22 9,050 A 1,267
@ IEEEHEEZLIRA
ARSIV FI AR A 60,000 63,234 A 3,290 59,944 56
27 —F| B A 37,445 35,700 A 2,307 33,393 4,052
EX SIS AEIRA 12,000 10,800 239 11,039 961
EEEEEZEINAG 109,445 109,734 A 5358 104,376 5,069
G EETEEZITIA
FEEEEZIEINA 208,891 210,559 3,135 213,694 A 4,803
ZFD it (18)IRA 236,446 367,894 A 19,141 348,753| A 112,307
IEEEEZEINAL 445 337 578.453] A 16,006 562447 A 117,110
® BEEIA
ERE S ILEESIRA 42,706 55,811 A 3,320 52,491 A 9,785
EHEEINA 1,600 1,600 A 99 1,501 99
EELINAG 44,306 57,411 A 3,419 53,992 A 9686
@ B-THEEZITRA
BEZEZTIA 0 0 0 0 0
MEEZITIA 0 750 A 300 450 A 450
B-HEEZEINAL 0 750 A 300 450 A 450
HULA
ZEF R 11 3 A 2 9
SR EZE PN 1,300 1,200 55 1,255 45
HULA 43 4 201 205 A 162
HULA Gt 1,354 1,207 255 1,462 A 108
EEIHILAGT 675,797 837,739] A 26,537 811,202] A 135,405
2. FEFHPZH
D FEEEXH
% B $REN X 4417 4417 0 4417 0
HBHEFLZH 68,069 68,843 A 5,408 63,435 4,634
BRELEXH 11,960 12,455 A 1,797 10,658 1,302
Iyt =R Nl g 0 0 517 517 A 517
SEEXH 0 0 0 0 0
REBEEXH 2,250 3,450 A 1,704 1,746 504
REEXH 100 140 A 85 55 45
BIEEHREXH 2,045 2,120 A 152 1,968 77
HEREXH 1,810 1,657 73 1,730 80
HERREXH 1,000 1,352 A 1,352 0 1,000
B4 HEREEXIH 277,966 457521 A 14,745 442776] A 164,810
B EEREETH 41,520 89,627 4,396 94,023 A 52503
BHREEARIESE 236,446 367,894 A 19,141 348,753 A 112,307
ENRI 8 A2 37 1,850 2,100 A 399 1,701 149
LhEBEREXH 4,066 4,088 56 4,144 A 78
SEIKE T H 104,750 102,790 1,188 103,978 772
FERAMRUEEHIH 9,382 7,936 1,789 9,725 A 343
1RIR - R EER X 3,450 3,500 A 107 3,393 57
HEEIH 310 770 A 516 254 56
MABRAEXH 22,240 22,760 A 4,982 17,778 4,462
EHEXH 2,410 2,310 A 167 2,143 267
FHEEXH 178,027 159,518 8,850 168,368 9,659
FHFBEXH 0 0 0 0 0
HXH 70 120 A 82 38 32
EEETHE 696,172 857,847 A 19.023 838.824] A 142.652
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Q@ BEEEXH
REMEN 4,688 4,657 0 4,657 31
WMHEFLUXH 7,897 5,875 1,448 7,323 574
EAEAEXH 2,077 1,790 183 1,973 104
BT 0 0 0 0 0
SEEYH 30 50 A 50 0 30
REXEEXH 270 230 38 268 2
RE&EZH 100 150 A 60 90 10
BEEKREH 200 200 3 203 A3
HEREXH 500 500 A 88 412 88
SEKEZH 125 136 A 25 111 14
FRAMEREVEERZH 1,600 1,300 278 1,578 22
RER-REEH 0 0 0 0 0
e H 200 200 A 2 198 2
AHRAFEIH 50 45 25 70 A 20
BHEETH 300 220 150 370 A 70
REEBELH 500 600 A 164 436 64
M H 20 10 6 16 4
EEBELHE 18,557 15,963 1,742 17,705 852
EETEFIHE 714,729 873,810 A 17,281 856,529] A 141,800
EETPINEELE A 38,932 A 36,071 A 9,256 A 45327 6,395
I HREFEINEZOE
1. EFEINA
@ B EEEMERIA
MEER E R L EE B AR IR A 4,307 0 0 0 4,307
RIS 5 | L EEIEIA 0 0 517 517 A 517
ABERNS| 248 FE AR IR A 19,520 64,300 A 951 63,349 A 433829
FEYRIIE£5I 4 EEIREINA 0 1,058 4,065 5,123 A 5123
BB R R I EEIEINA 20,882 0 3,615 3,615 17,267
Y EEIARINAGT 44,709 65,358 7,246 72.604] A 27,895
@ FEVRIESURA
FEYRIIEIRA 0 316 A 51 265 A 265
FAYRIEEURAGT 0 316 A 51 265 A 265
BEFHINAGT 44,709 65,674 7,195 72.869] A 28,160
2. BREFHIH
O BHEEEMB/XZH
EREEBEIEENSIH 1,040 850 155 1,005 35
BRI N EERSTH 4,565 3,373 0 3,373 1,192
EABERNG| B EEREIH 0 23,870 A 6,166 17,704] A 17,704
FHEYRIIE5I 4 EENSIH 0 316 A 51 265 A 265
BRREBIEENSIH 0 0 0 0 0
HEEENMSIHET 5,605 28,409 A 6,062 22347] A 16,742
Q@ BEEENS/XH
HB#EERIREXE 0 0 0 0 0
BEEEENSIHET 0 0 0 0 0
@ VRIS H
YRS 0 1,058 4,065 5,123 A 5123
FAYRIIE XX HEt 0 1,058 4,065 5,123 A 5123
BREFHZHE 5,605 29,467 A 1,997 27,470 A 21,865
BEFRHINEELE 39,104 36,207 9,192 45,399 A 6,295
I BA#&ESHINEZDER
1. BAFEEEIIRA
& ASULA
gt AL UAG 0 0 0 0 0
B FSESIR AT 0 0 0 0 0
2. BEHXH
EASREFERH
REIEASRFZH 0 0 0 0 0
EAEIRFLZHET 0 0 0 0 0
B FES AT 0 0 0 0 0
BRI =48 0 0 0 0 0
V FHEXE 100 100 A 100 0 100
V EABRRMEET 72 36 36 72 0
LHAIN EEE 0 0 0 0 0
ATHARR RN L = 58 60,815 60,815 0 60,815 0
RERRRHEIN S = EE 60,815 60,815 0 60,815 0




